T02-FM119 SUMMARY




T02-FM119 TIME EVOLUTION [Reference=CERN060726] summary (all channels)
PEDESTAL POSITION :JhAmpISum0 PEDESTAL FWHM |

_______________________________________ Entries 768

227 lhAmplISum1

.......... Mean 0.1838
--------------------- AN 11T 0.2278
Underflow 0

"’| Entries 768

Mean 0.1175
RMS 0.1509

:1| underflow 0
Overflow 0

e I I Jrms

------------------ A || (LY VY

- -| Overflow 0

|i|RMS

[ 0.5*(MAX-MIN)

5 10 15 2
Varlatlon [ADC units]

“|hAmpISum2
. .| Entries 96
Mean 0.9893
RMS 0.8785
Underflow 0

3 4
Varlatlon [ADC unlts]

--| Mean 0.5105
BLUS 1.351

Underflow 0
Overflow 0

..|’_‘|RMS

--| [ 0.5*(MAX-MIN)

Overflow 0

5|‘_‘|RMS

| I 0.5*(MAX-MIN)

20 20

Variation [%)]

. |nAmpISum5
................ *| Entries 768
r: Mean  0.4428 RS I ‘1 Mean 0
RMS 1.003 I N D St SR ...|rms -0
I N s eiieieiiee.....t.]Underflow 0 : Underflow 0

Overflow 0 1 Overflow 0
EEDRMS N I ;|:|RMS
o5 MAX-MINY e SRR S | [l 0-5*(MAX-MIN)

Mean 0.02684

--| Mean

-0.009811
RMS 0.03876

"I rms 0.02145
::| Underflow 0

Underflow 1

10° |

- | overflow 0

....| Overflow 0
| CJRms

|0 5*(MAX-MIN)

B 0.5+ (MAX-MIN)

12 14
Variation [%]

Variation [%]



[T02-FM119 Test 0]

[CERN060726] 060727074759 _FM119_calu_pedestals_ci.csv [ 23.5C]

[CERN060905] 060905195538_FM119_calu_pedestals_ci.csv [ 24.7C]




T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, LEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERNO060726] statistics for Pedestal Position [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for Pedestal FWHM [Gain index 5]

ADC units

ADC units

ADC units

ADC units

olEx8] g —LEX8
X+ _________________________________________________________________ oLEX1 E J —LEX1
HEXs| . FE HEX8
E ooy R o oHEX1| 7F I _HEX1
E | eE
sE || L
£
ab
2k i
o
: = e s I | T
45 1 2 3 4 5
Channel 0.5(MAX-MIN) and RMS
G| °F | e
[ ] — |
HEX8| gE- i HEXS
= _HEX1
43
6F
55 ‘
af i
3 M
2F
£
_5IIIIiIIIIiIIIIiIIIIilIIIiIIIIillllillllillllill o:l I|I-||-|IIIIIII IIIIIIIIII
10 15 20 25 30 35 40 0 1 2 3 4 5
Channel 0.5(MAX-MIN) and RMS
T [eLEX8 N T —LEX8
X- ___________________________________________________________________ oLEX1 C _LEX1
HEXs| 10 — HEXS
N S T ST Ut SOUUTS NUUOL S S JHEXI| [ I _HEX1
= sl i
6 -
£ i
2
O _I 1 1 1 1I 1 1 1 1 2| 3' 1 1 1 1 4| 1 1 1 1
9
Channel 0.5(MAX-MIN) and RMS
Y- | 8F X
___________________________________________________________________ (] E —
HEXs| _FE HEX8
S SO SR SO ST SUUUURE STUUE SURURRR A oHEX1| 7 I _HEX1
E 6F T
5F
o
3
2f
1E ”
EI i | 1 I 1 1 1 1 I I 1 1 1 1 I 1 1 1 1
10 15 20 25 30 35 40 45 0 0 1 2 3 5
Channel 0.5(MAX-MIN) and RMS




[T02-FM119 Test 0]

[CERN060726] 060727074759 _FM119_calu_pedestals_ci.csv [ 23.5C]
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[T02-FM119 Test 0]

[CERN060905] 060905195538 FM119_calu_pedestals_ci.csv [ 24.7C]
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[T02-FM119 Test 1]

[CERN060726] 060727080553 _FM119_calf_mu_trend.csv [ 24.7C]

[CERN060905] 060905201353_FM119_calf_mu_trend.csv [ 25.0C]




T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LE+/LE- [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/LE- [Gain index 5]
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oW T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LE+/HE+ [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/HE+ [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LE-/HE- [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LE-/HE- [Gain index 5]
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[TO2-FM119 Test 1]

[CERN060726] 060727080553 FM119_calf_mu_trend.csv [ 24.7C]
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T02-FM119 CERN060726 LE+/HE+ [Gain index 5]
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T02-FM119 CERN060726 LE-/HE- [Gain index 5]
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[TO2-FM119 Test 1]

[CERN060905] 060905201353_FM119_calf_mu_trend.csv [ 25.0C]
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T02-FM119 CERN060905 LE+/HE+ [Gain index 5]
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T02-FM119 CERN060905 LE-/HE- [Gain index 5]
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[TO2-FM119 Test 2]

[CERN060726] 060727080719_FM119_calf_shp_pO01.csv [ 24.8C]

[CERN060905] 060905201456_FM119_calf_shp_p01.csv [ 25.0C]




T02-FM119 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, LEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, HEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, HEX1]

DAC DAC DAC DAC DAC DAC DAC DAC DAC DAC
Lo N w &R

DAC

DAC

Time phase

DAC

Time phase

DAC

DAC

DAC

EY+ COL 2

- &—0—0

Time phase

DAC

DAC

5
Time phase

DAC

Time phase

fY+COL3

*r 00— 00

DAC

DAC

Time phase -3 Time phase
X+ COL 4 Q 2fy+coL4 Q 2fX-COL 4 b
o 1f o 1 o
-0 0———0=9 "0 0——o0=9 0 -0 0—— 0= ——————0-6=90
-1
2 -2
:8.-8.-0.-0.23 100.0.2.2.4.9.6.0.89 11.1.4.3.4. '-30.-nmm.-m-m.n.n.m.m.m.o.n. 911.1.2.3.41.! :8.-0.-0.-0.3) 100.0.2.2.4.9.6.0.8.9 11.11.ﬁ. A. = 5-4-D:D.100.0.2.9.40.9.6. 0.8 911.1.3.3 .41.5
3 Ime phase 3 Ime phase 3 im ase Ime phase
2 Q 2fy+COL5 Q2 Q 2fy-coL5
1 (=] 1E (=] 1 (=] .
0 OF - o—oo—0 0 o—_——e—0
-1 1 -1
2 -2 E -2
o? o o
g 2 < <
o, a a
0
-1
2
S 7.5
s T|me phase
2 ) 2 fY-coL7
a a o ,E
————0-=0

Time phase Time phase5
g 2fAYsCOLB g g 2f[Y-COL ]
*-0 00— 0 =0 ————0-=0

Time phase

DAC

DAC

DAC

Time phase

Time phase )
3 Q o3 Q
2EX+ COL 10 b E|!+ COoL 10 < 2fX-COL 10 b
1 (=] 3 (=S| (=]
0 oo —— oo - ——eo=—o 0 oo &————— oo
1 -1
2 -2
:8.-5.-0.1'011 100.0.2.9.4.9.6.0.89 11.1.2.3.4. '-30.39.4).-3.-3.rm.n.z.m.ao.s.o.n.sl.s11.11. 3.41.! :8.-0.-0:0.20 100.0.2.9.4.9.0.D. 11.ﬂ.ﬁ.3.4. B .-9.-0.1".-3.1-[!).1).2.3.4).5).0.'0. 911.1.2.3.41.5
3 ime phase 3 imé phase 3 me phase imé phase
2fX+ COL 11 Q 2f[y+ coL 11 2 2fX-coL 11 2 E|Y-00L11
1 o 4E [= I o
0 - — oo 0F oo 0 e &— e
1 -1E -1

2

2
8.—8:0.1'011 100.0.2.9.9.9.0.D. 911.1|.ﬁ. A.

ime p

-30.-9.-0:0.-3.1-[1).0.2.3.4).9.0.0.*9'“1.11.?1. A1

&

29 1-(!).0.2.0.0.5).0.0.*9[&1 §il ﬁ s'e'

- .-5).-0.1".-0.1-(”.0.2.0.0.5).0.'0.*9[6.11.11. K .



T02-FM119 TIME EVOLUTION [Reference=CERNO060726] statistics for TACK Delay [Gain index 5]
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[T02-FM119 Test 2]

[CERN060726] 060727080719_FM119_calf_shp_pO01.csv [ 24.8C]




T02-FM119 CERN060726 TACK Delay [Gain index 5]
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[T02-FM119 Test 2]

[CERN060905] 060905201456_FM119_calf_shp_p01.csv [ 25.0C]
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[T02-FM119 Test 3]

[CERN060726] 060727075308_FM119_calf_gain_p01.csv [ 24.5C]

[CERN060905] 060905200052 _FM119_calf_gain_p01.csv [ 24.9C]




T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, LEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, HEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LOWEST Relative Gain [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, LEX8]

5
Time phase

2" [¥-COL 3]
05E
0F "0 0——o=9
-05F
-1
E : ] 1 35T : 5
15 Time phase 15 15 15 Time phase
® "4EX+ COL 4 e 1E|Y+C0L4 ® "4EX- COL 4 e 1E|Y-COL4
0.5 05F 0.5 05F
0 oo o—— oo 0F oo o—— oo 0 oo &———— oo 0F oo o——— oo
-0.5] -05F 0.5 -0.5F
-1 -1E -1 -1E
a5 | g, -1.
3.-8.4.41.23 700.0.2.9.0.9.6.D. 911.11. q4. %.Dmm.-m.1-m.n.n.m.m.m.o.n. 911.1|. 341! -3.-0.4.—3.20.tm.n.m.:n.o.m.o.n.al.s 11.n.ﬁ.3.4. %loa-m 700.0.2.9.20.9.6.D. 911.11. 345
15 ime phase 15 mé phase 15 ime phase 15 imé phiase
E|Y+ COL 5 & & EIY- COL 5

Time phase

Time phase

1 X+ COL 10
0.5

0 oo o—— oo
-0.5

-1
599D T0 025090 DB TLIAIA.

SEX-coL 10

-1

*--0 00— 0=

41.5

-1. 1.
ime phase %.—9.4).—:.-3.rm.n.z.m.m.m.o.n.sl.s11.11. gs‘lé‘ 3.-51.-0.-0.20 100.0.2.9.9.9.6.D. 11e1’1)ﬁgsg %.-B.-O.«‘D.—B.1-(!).1).2.0.4).5).0.'0.8'.911.11.11. 5
1.5 1.5 1.5 1.5
® 4EX+ COL 11 ®1HY+ COL 11 ® "4EX- COL 11 ®1HY- COL 11
0.5 05 05 05
0 o-o-oe o-o=-o 0 -0 0 oo —— oo 0 P
-0.5] -0.5 -0.5 -0.5

-1

-1-'3.-8.-0.1‘0.m.1-(!).0.”.3.0.9.0.1).*9"1‘&.1'15% A.

-1
i
%.-n.-o.—n.-m.1-00.0.2.0.40.9.0.n.8l.9m1.n.?igéé g

-1

i 3.-0.-0.-0.20 1-(!).0.2.0.0.5).0.'0.*9'&1.11.%. A

-1

™ %.-B.-Oa‘l.-ﬂ.1-(!).0.2.3.4).5).0.'0.*9'111.11. . . .




T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, HEXS8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for HHGHEST Relative Gain [Gain index 5]
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[T02-FM119 Test 3]

[CERN060726] 060727075308_FM119_calf_gain_p01.csv [ 24.5C]




T02-FM119 CERN060726 LOWEST Relative Gain [Gain index 5]
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T02-FM119 CERN060726 HIGHEST Relative Gain [Gain index 5]
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